Bl EIR

HREY - 37IEEFL

SCK-CZ3-SCK-SZ3 Jiwata TOHATSU

(RoHS) (sUs)
N
’36\ WE AR B =
' | BESUSMERLE
i A S
>/ SC AR | mmmsoms pe)iz
SCK2015523 B F28)(SUS304) 118
o >Us30e ABRR(SUS)13
SUS304
BT
2| = - :j”
o A “‘,,,
8l e
Q ]
©-
L/2
<—‘L 0.01|A
L+0.1
B RS R YR —
S45C SUS304 &7
5 % |B%| @ % |B&| 5 " P spcos, e 4 XM
SCK1015CZ3| - |SCK1015SZ3| ~ | 10 | 15 | 35 | 45 | 24 | 75| 4 | 121 | 95 |M6xi8
SCK1215CZ3 SCK1215SZ3 A 12 15 38 55 24 9 5 12.1 | 10.5 | M6X%18
SCK1515CZ3 SCK1515523| 2 | 15 | 15 | 40 | 66 | 28 | 105 | 6 | 121 |12 |Mexis
SCK1615CZ3 SCK1615SZ3| & 16 15 42 6.6 28 10.5 6 12.1 | 12 M6x18
SCK2015CZ3 SCK2015523| & | 20 | 15 | 46 | 66 | 34 | 105 | 6 | 121 | 14 |Mex20
SCK2515CZ3| - |SCK25155Z3| 2 | 25 | 15 | 50 | 66 | 38 | 105 | 6 | 121 | 165 | M6x20
SCK3015CZ3| ~ |SCK30155Z3| ~ | 30 | 15 | 56 | 66 | 44 | 105 | 6 | 121 |19 |M6x25
SCK3520CZ3| ~ |SCK3520SZ3| ~ | 35 | 20 | 65 | 66 | 48 | 105 | 6 | 141 | 225 | M6%35
SCK4020CZ3| ~ |SCK4020SZ3| -~ | 40 | 20 | 70 | 66 | 56 | 105 | 6 | 141 |25 |M6x35
SCK5020CZ3| ~ |SCK50205Z3| 2~ | 50 | 20 | 85 | 66 | 68 | 105 | 6 | 141 | 295 | M6x35
(Ex. WELZR] SEHIEIE R BIFEIE
SCK1015CZ3 (16X »

SR AR BORR BL R 51 > DUR

GEIEPA




